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F2 Experiment Analysis

Unless otherwise directly told, use class-wide data for the analysis below. If you are missing some piece of data, log
into www.plantingscience.org and go to the files section and find it there. All answers below must be in complete
sentences (unless creating a table or sketching a graph) or else the overall grade will be reduced up to 10%. When
referring to data, always be sure to refer to the actual quantities and units. When describing a difference between
values, calculate the difference, do not just say “big” or “small.” Use a separate piece of paper if necessary,
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Analysis: -

1. What was the expected phenotype distribution? What was the actual phenotype distribution in

both the control and experiment groups? (1 pt) Was there a significant difference between the

expected and the actual distribution in both groups, and, if so, what specifically was it? (1 pt) Is

the expression of stem and leaf color due to genetics or environment? (1 pt)

2. What the average number of hairs on each group — control and experiment?(1 pt) Was there a
difference between the average number of hairs in each group, and if so, what was it
specifically? (1 pt)

3. What experimental variable causes (or did not cause) the difference in hairiness between the
two groups? (1 pt) Is this change due to genetics or environment? (1 pt) What specific data
from the experiment supports this assertion? (1 pt) What are some functions of hairs (also
called trichomes) on a plant’s leaf? (1 pt) Speculate how changing (or not changing) the
numberiné}esponse}\he environment would help the plant live more successfully. (1 pt)
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Speculate on whether genes and/or the environment can have more effect on an organism'’s
body. (1 pt) Cite specific data from the experiment that supports your speculation. (1 pt)
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F2 Experiment Analysis

Unless otherwise directly told, use class-wide data for the analysis below. If you are missing some piece of data, log
into www.plantingscience.org and go to the files section and find it there. All answers below must be in complete
sentences (unless creating a table or sketching a graph) or else the overall grade will be reduced up to 10%. When
referring to data, always be sure to refer to the actual quantities and units. When describing a difference between
values, calculate the difference, do not just say “big” or “small.” Use a separate piece of paper if necessary,
(1 pt total point for the immediate information below)
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Analysis:

1. What was the expected phenotype distribution? What was the actual phenofype distribution in
both the control and experiment groups? (1 pt)j Was there a significant difference between the
expected and the actual distribution in both groups, and, if so, what specifically was it? (1 pt)} Is
the expression of stem and leaf color due to genetics or environment? (1 pt)J /
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2. What the average number of hairs on each group — control and experiment?(1 pt)jWas there a
difference between the average number of hairs in each group, and if so, what was it
specifically? (1 pt)\\

two groups?}{1 pt) Is this change due to genetics or environment? (1 pt) What specific data
from the experiment supports this assertion‘.ﬂl pt) What are some functions of hairs (also
called trichomes) on a plant’s leaf? (1 pt)\Speculate how changing (or not changing) the
numbering response the environment would help the plant live more successfully. (1 pt)(

3. What experirental variable causes (or did not cause) the difference in hairiness between the
(

4. Speculate on whether genes and/or the environment can have more effect on an organism’s
body. (1 pt) Cite specific data from the experiment that supports your speculation. (1 pt)
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